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Good morning!

@A Lag glaiay) i cglul 7 ) 3 pdlaall ol B gisall
Ll s ALia) aa la S3 ) ALY b Cualiiga Glaia) ding
1- Chose the right tense.

as IS sl iy il i) g
a- Present simple
b- Present perfect
c- Past perfect
d- Present progressive
e- None

* k%

2- chose the nght modal verb
laall Culidll debial) Jadll 38 &

a- can
b- may
C- must
d- could
e- None
3- Identify the type of the adverbial clause

daall A 53 gall Cayhall dlaa & 63 20a ¢
a- Result
b- Manner
c- Reason
d- Contrast
e- purpose

* % %

4- chose the nght future form
Aeall Candial) Jiiendll iy i)
a- present simple
b- be + going to + main verb
c- will + main verb
d- present progressive
e- None
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We're still in ch6 talking about “subordinate clauses.”

A subordinate clause 1s a clause that can’t stand by 1itself.

A subordinate clause 1s a clause that begins with a subordinate.

We found out that there are 5 kinds of subordinate clauses;
what was the first one that we talked about last week?

Y ) Jeall a5 (Raill) e il Jaall e Caans ) Caadl L Ul e

5 poeie Waline sy (St ) Alaa ) GNJQJM&’M&%J;Q&

Ll 5 Jaall o3l g1l 5 @llia o Laa g 5 (al sil) Cakaall o jaf aaly fas
3\7\“\1‘ JAQJ\ 9

1- Noun clauses:

If you look at the name 1itself “noun,” a noun sometimes can be
subject, object, complement, and so on. We know what we mean
by clause; we said that: a clause 1s a group of words with a verb. If
I said something like:

34 Jsrde ol Jeld puzm e Tl 28 a1 () Laa gl lhas g and AdSI Uyl )
:Jie il 8 1308 Jud Lo SAlS e gana o Aleall (4 lad o Aleall e

The house 1s very nice.

House: 1s a noun in a subject position; I want to replace it by a
noun clause;

daanl ddany (Y Ldasiiiin Jeld oo Ua g anl o J e dalS
Where he lives 1s very nice.

(4735 Ly Lﬁm Q\SAS\)
Noun Clause 1n a subject position
Jeldll Jaa (8 dpenl dlas
1 don’t know the answer.
Answer: noun n an object position.
& Jsmia) o 3

I don’t know what you are talking about.
(4.'\:; Ghaam Lﬁﬂ\ _)AY\)

What you’re talking about: noun clause in an object position.

* % %

Noun clauses mn English are of 2 types:
Lat 5 e 58 Lol Fnandy) Alaall
A-WH noun clauses: begins with wh-words
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WH = Jaii ) Gl aaly Tag doesd das 58 5 Y ¢ 5l e
& Where I go 1s none of your business.
& What I do 1s none of your business.
B-That clauses: begins with that
that 3l = o dpan) Aas g 5 S & il oo
& That he will succeed 1s very unlikely.

* k%

That1s multifunction; what do we mean by multifunction?
e 5 Gleladiay) it A8 o that ob Al ddaadl g€l ac
) e o 38l sl
Multi means 222%; we will count its functions one by one:
- Demonstrative pronoun (this, that, these, those) 3 L) axl
- Some noun clauses begin with that: “That he will
succeed” . gan A
- When we have a reported speech: “He said that he wouldn’t
come next week” Jsall J sie alaad 4504
iv- Relative pronoun (who, whom, which, that) J s s au
Ahmad i1s the only student that speaks two languages.
2- Adjectival/relative clauses
We call it relative because it begins with a relative pronoun.
The pilot who landed the plane safely
Adjectival clause 1s a clause that has the same function of an
adjective; 1t modifies a noun; 1t gives more mformation about 1ts
color, size, nationality, origin, etc.
o A pa sl elanl aaly fan Y (Al daa) W Gpanls Lehaus (Sa
oo Aila) Cila slae aes b dball Jae i @llas LY (Adall dlan) Lpans
(4.(;_9.1 calial (daaa c‘ujl) e.u:‘}“
An understanding mother

Understanding 1s an adjective; it modifies the noun “mother”.

Where does the modifier come? It comes before the noun
(from now on, we will call the noun that we describe “head.”)

So, we call this way: pre-head modifier
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5 e gall L Caa gl Alen ot J ¥ & sil) 8 dlaad) 03 (le 58 cllia
s LS Al al) Jads g pre-head modifier 824 (o
A mother who understands her children

The modifier came after the head; we call it: Posthead
modifier.
Post-head 43aY ey Cosn sall Lo Coagll dlen aiid Ul ¢ il L
modifier
- What is an antecedent? The noun that the relative pronoun
refers to.
sy AlallAdall dla (8 Gigpasdl andl daa sl KAl Gl
antecedent
We will divide the adjective into two categories:
1- Defining/ Restrictive
2- Non-Defining/ Non-Restrictive
It all depends on the antecedent; let’s take an example:
M) ogeasall ) 48 (S I £l e s ) Aleadl 038 o
Ha;ﬁll&téﬁ%jhiqjﬂdé@&\&}mui (asill
The boy. 2 The meaning is very wide
P S [ VPR P KV Y PP O KPPV P POV YV 1) W DRSS
ALK 03¢ il (3ad asaial) sl
(BB ey ) AN The boy who is crossing the road is my son.
) o

What do we call this clause? Restricted/Defining clause
My father retired last week.
Y5 il Cag yra cixalld alladl 8 2a) g all oY) @bl Y Uld (gl 5) cli o) Ll
Ala) daslan cudae] ol ia b (e ST oaaad S
You know that I have only one father, but I, as a speaker or
writer, want to give you extra information.

My father, who teaches Arabic, retired last week.
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You already know what I mean, like when I say:

World War 2. Al Aallad) o jal)
Bill Clinton. O 5ulS Ju

Some antecedents come 1n-between; sometimes they are
defining and other times they are not, like when a kgl say: “my
teacher,” he has only one teacher, but 1f a secondary school boy
says “my teacher,” he has a teacher for each subject, so i1t’s non-
defining.

Llal Ll ol cpe il SIS (G Lo dilaie & 2l (o gall slans] 028 (any
b Laic b ol AL e o35 oAl il L 5 apaatll ALG o)
panill 8 e U ansd) g i danl s Lalea llay ggd " alaa” dua sl llha
33 sadaa s dlly eh Malaa’ LIS S Al il JB 13 (S,
panll U8 an¥) a5 gl g inal) 1305 (alae § llia i il )

- My cousin, in Amman, got married last week.
- My cousin in Amman got married last week.

In the first sentence, you and I know that I have only one
cousin; so, 1t’s extra information. That 1s why I put 1t in-between
two commas, but 1n the second sentence, I meant that I have a lot
of cousins, so I needed to restrict them by telling you that he 1s
the one who lives iIn Amman.

Glaglan gl Ao (55ad ol Aaall (¥ Jual s ol gl ol (JY) Al 3
@ (Bsasall aul¥l) paddll 2aadl 4y )5 Claglae LS CulS 4l
O ) aial s SIS ae 2Vl gl ol (g) daall ALE culS dlaad) o (5] dleall
a8 Al dleadl b Wl lee 8 GhIEN g saall A anll cnl o & Al
Ailia) da slae las (8 43S A glaa praai s Lalad ixall uaid (il 58 Cania g
Lalai 48 a3 Ul g il lipse dane il sgd dadd aal g ac o) V) el Y il
s A5 e 2 40 daglas Aila) Cunal ST @l onaal Y dals Y

" " “ Al e

* % %
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EXAM QUESTION:

Which antecedent 1s always followed by a non-defining relative
clause?

a- The boy

b- The woman

c- The bag

d- The Nile = 1n this universe we have only one Nile

e- The man
an¥) sa La 11368 Ul o Glal) Gamy 3 Jb A lasy o eall JB8
Jand bl J) guad) 8 Gl HLAN S $ha0aa e ddiay La g adly (31 8 goan gl
o2 aaan s Jall 5 sl e aaall 5 dpall e el Hlgd sl (Sxe
6 s A alladl 8 aa gy D8 Jull V) laline (3l Banad s Waanaad (S eland)

Al

* % %

In grammar, we have an operation which 1s called reduction;
the word derived from the verb to reduce, and 1t means to make
a long statement shorter by using less words with the same
meaning.
ar G b s Lodaoy) ael @l 8 laid¥) ed dlee ol

s dleal) sdgd 5 sl dlaa oin S S

Adjective clause can be reduced only with 2 conditions:

daallAlall Jes 3 JLaidy)

1- If the clause begins with “who, which, that”

\)m;o..l% :\.La.“ cm\ JAL\Z\.IAL“ i.l.f..i ui (SE

2- It should be defining relative clause.

sl SUE G g gl an¥) G5S O g
The lady who 1s wearing a black suit 1s my boss.

The lady wearing a black suit 1s my boss.
Anyone who has a car may join us.

Anyone having a car may join us.

Oe 4xl 7 hasing <88 Jas 8L 13 0¥ having i by laa Y
© JLal

* % %
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3-Adverbial clauses:

Adverbial clause 1s a clause that has the same function of an
adverb; 1t modifies a verb. It describes when the action
happened, where 1t happened, how 1t happened, and how many
times 1t happened.

(S <l ) Jadll Caal (s sl Jee Jas Jas & 408 k00 Jaal)
Adverbial clauses are of seven kinds: §/s5 7J dauia Jaall 02
A) Adverbial clause of time

e
B) Adverbial clause of manner
A%y yhall
C) Adverbial clause of reason
QU
D) Adverbial clause of contrast
. a8l
E) Adverbial clause of purpose
gl
F) Adverbial clause of result
G) Adverbial clause of place
. O
Each one of them begins with a certain subordinator, and 1t’s
the key to know which kind of adverb you have.
Lkl Jaall e g i (sl A8 jmal U 5 g laline Canlly by Tasi Leia JS
chal as
- I'wanted to become a teacher simce I was a child. time
- While I was walking, I met one of my professors. ime
- While my daughter works hard, my son doesn’t work at all.
contrast
So, the same subordinator has 2 functions.

A sana o S) (8 aa g cra e iS) sl AUl G oS () Sy B
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We will start with a note about punctuation marks:

When you want to use an adverb clause, then you are using a
combination of (main clause + subordinate clause).

If we have a main clause followed by the adverbial clause, then
there 1s no need for comma, but when you begin with an
adverbial clause followed by a main clause, we need a comma
between them.

Aleall aleall il 13 sl 138 8 el e e Aaadle fala
Alaall calay 13) <15 Alald aladinY dala DU dpe @l dleally de siie Ay )
pany By Lagin Abald pagl Aalay Gadd A Nl dlaall Ll 5 dse dl)
O Lgaa s cind A ) Alaall 3 (mlil) e dl) 31aY) da g 8 YAl
(o yine Alas LplS ) uilala

- Since I couldn’t ind a taxi, I arrived late.

- Tarnived late since I couldn’t find a taxi.

If the adverb clause comes 1nside the sentence, we need two
comimas.

- Once, after I watched a horror movie, I had a nightmare.

* k%

We won’t be talking about adverbs of Time& Place because
they are easy and obvious.

el 5 rall OY AlSall ol die 3l Caplall Jaa e siSall Caaay Al
Adverbs of Manner:

Usually, when we talk about an adverb of manner, 1t’s an
answer for “how” "$as" s Jlsull & 45 Hhll e Gaati Laie sale
- How does he sing? He sings beautifully.

He sings as his father’s does. (adverb clause of manner)

The room was decorated as he had requested.

* k%

Adverbs of Reason + Purpose:

- How can we differentiate between them?
) g a3l G juadl) BiKay CaK
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If I asked anyone: why are you going to England this summer?

To improve my English. 2 Purpose
Only when you use “because & since,” it become an adverb of
reason.
The difference between them 1s very delicate.
I aadiaall il ) lail) WiSay tayaail laa 3 cpe i) cpda o G4
8 568 To ardiul 13 Ll aw g 53 sed since, because adadiul
Adverbs of Result:
It has a specific structure.
a5 adlaad Guald (S yi g il 1 ellay
1- “ sot adjective/adverb+ that”
The flat was so cold that I couldn’t sleep.
The Iift was so crowded that I couldn’t breathe.
He speaks so quickly that I couldn’t follow him.
Since 1t’s a result, 1t has one position: at the end of the sentence.
2- “ such (a) + noun phrase + that”
OS5 Ll alieadiaad 5 yie WD 13) (ol A, WY o d G a ) i
APARENENDLRFPEN
She wears such nice dresses that evervone compliments her.

He 1s wearing such a nice shirt that...

* % %

Adverbs of contrast:

(b LS 3 58 lile ol st I e Lt Al (s Alas) (il
Although he graduated from university, he couldn’t find a job.
Though it rained heavily, I emjoyed the match.

While I don't like grammar, I have to study it. (for me I have to
write it ©)

* % %

Adverbial clause can also be reduced with 2 conditions:
1- If the clause begins with after, before, since, when, while.
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2- It cannot be changed to a phrase 1if the subjects of the
dependent and independent clauses are different.
15 o I b b Al ALl Sl JLaia¥) Al Gald (Sa
& Jeldl Gy o SU safter, before, since, when, while = Aleal
A ALl L8 Jelal 1Y) dlea)
While I was walking in the park, I met one of my teachers.
While walking m the park, I met one of my teachers.

* k%

EXAM QUESTION:
Read each sentence carefully; if 1t’s true, choose A; 1if it’s wrong,
choose B.
b il dihla cul€ 13 5 a yia) dans Aleall cul€ 13) dlie Jeall |58
- All adjective clauses can be reduced. B
- Some adverbial clauses can be reduced. A

* % %

4- Conditional clauses:

Why do we need conditional clauses?

a- We use them when we want to give an advice.

It I were you, I would do so and so...

b- To express regret

1If I worked overtime, I would have earned extra money.
adill e uell Ll dspas ean Yl Sk il Jeall lialadiind cams Lo g5
& In the book, we have 3 types of conditional clause:

Leale ) siSall Cimpa 5 &) il 3 QLS 8 S5 gr

1- Real/ open/ possible condition: because when we talk about

a condition m this case, the possibility of fulfilling the condition
or not, the percentage, 1s 50%.
Al ()65 ) A 12 g8 dadad ey Jie ) sldie i Ty 1Y) g sl g
RUREENE JUPIU EINEP IR
& It 1 tossed a comn, what are the possibilities that I have?
Head/Tal

& It on the first day on school I tell my son:
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& If you pass your exam, I'll buy a new laptop for yvou.
Simple present + will + zero form of a main verb.
2- Improbable condition: the action 1s very unlikely to happen.
M\@J\yéLuuMJJSJLQJM\MM):@LJM @LA\&}J\,@;
SN Jamil) 8 dsasll @) oy e () a5 (i) ) J Y
After 3 months, the boy failed 1n 3 or 4 subjects:
If you passed your exam, I would buy a new laptop for you.
3- Impossible condition: the action 1s done. So, 1t’s impossible
to happen (I'm talking about the past).
Gy Al (o ol aaldl e sa 5 Esaadl Jeadiie Tyl (Gl & il oo
Al 138 ety o (S Y
If vou had passed your exam, I would have bought a new
laptop for you.
4- Zero condition:
Canae 13 Ul) J ganl) 2T ¢ 5 dale d88ad o 31 08 cpal Jll g sl o
(e
If you drop an egg, it breaks.
If you don’t water the plants, they die.
5- Rhetorical condition:
& The word rhetorical itsell means =3; for example,

“rhetorical questions” don’t need an answer; 1t’s just a way to start
a lecture.

* % %

That 1s all for today
Thank you very much

Demo Mode
NERRNn mimm
026587
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